UM4iB1

ISU2U

ISUZU MOTORS ENGINE SALES INC.




(Ibf+ft)

2004

w 4.
DISO

4
& 100
=

504

(HP)

70

60

POWER OUTPUT

40430

499

773

50

224

(N=m)
r300
-250
200 Full load torque
L 150 —_—

-100

1800 2000 2200 2400 2600 2800 3000 3200 3400
(kw) ENGINE SPEED (min)

- 60

Full load curve

40

20+

m_' Fuel consumption on 54

Propulsion curve

ra

La

r3

olo o

Standard...

* Installation kit
+ Kingston valve
- Battery relay

1800 2000 2200 2400 2600 2800 3000 3200 3400
ENGINE SPEED (min")

- Control head
« Instrument panel

+ Extension harness (3m)
- Seawater pump impeller *

ORI ON bR it

» Extension harness (3m)
- Control cable (4m,6m,10m,12m)

+ Stop cable (4m,Bm,8m)

- Bilge pump

(L/h) (US.gal/h)

FUEL CONSUMPTION

» Tool kit
- Owner's manual

* spare parts

Configuration
Bore x Stroke
Displacerment
Rated output
Application
Governor type
Combustion type
Aspiration

Engine weight kg (Ib)

Fuel used

Starter
Alternator

Lubrication method

Coaling method

KW(PS)/min ' |

20 . 309 |

480

mm (in) |

Lit. (cid)

Engine |
with MGN30A

V-kW
V-A,

Heat exchanger (seawater circulation)

Intercooler

Rotation direction

_ldiing speed |
Marine Gear Model
Clutch type

Marine gear

Crankshaft
Propeller shaft |

min!

Reverse type |

Reduction ratio

Specifications subject to change without notice

Medium duty

629

d-cylinder, vertical in-line, 4-cycle deisel engine
93 x 102 (3.66 = 4.02)
2771 (169)
49 (67) / 3200
Commaercial use
Mechanical
Direct injection
Matural aspiration
290 (639)
416 (917)
Diesel fuel
24-32
24 -30
Fu.II flow pressure circulation
Freshwater, full flow pressure circulation
{Seawater, indirect)
Multi-tube type (freshwater—seawater)
Multi-tube type (seawater circulation)
Right (clockwise) viewed from front of engine
Right (clockwise) viewed from stern
500~550
MGMNI0A
Wet, Mu_m'_ p!atc h_yw_a_u!ic type_

Constant-mesh type gear
204, 252, 3.05, 344

©2013 1SUZU MOTORS ENGINE SALES INC.All right reserved.



[SUzU UNM4JB1 DIESEL ENGINE

240 240 240 240
CRANK CENTER CRANK
= | /CENTER
ng 629 (WIDTH)
gﬁg—-ﬂr _ _E - j{ _ - L 309 ‘ 320
& } —— 9D £l | = SEA WATER
i - o OUTLET#25 .4
fos) > Y
[100] g8 5| 210 210 |5 \ L=
210 194 [143 102 VIEW B TN ]
VIEW A 0
R 0 \ llA
[ Ly M
R:5 ﬁ // _>\\s \\
_ 77 [ [ AN
g m lide %}% :
T v—" | /
wfo ] i
O'OL' ‘ Clll 1 0.5
o s - »0000
yah =Wk :
! ‘ NG
=SS / 8-M10x1.5 DEEP18 OO
. ; = 9-MBx1 25 DEEP18 AN
: T2-M10x1.5 DEEP18 o
41 / 6-M10x1.5 DEEP18 o
beg
HEATER
OIL FILTER z%%?%;ﬁl
=L
3 |
S ; e
MAX \ <% 7 [ i
4 L
N MIN _JJ' -~ .
O - = QIO
— 1 X
= ) 1 g 4%
& . — 10
h
& ‘ Q
;.
5 oL FUEL
™~ o —
o -
II! 25 o o \
O, I8
A A - 65 25\» A
100] 88
24 40
280
550

GEAR LESS
Ly 4]
LY T 1
ele
- - - - D
INTILO
4-$18
50
157 455.5 50
B} ENGINE MOUNTING
0 s 3-MI10X1.25 g4
S - F 5.4
G

FUEL INLET
PIPE DETAIL
3 o

<~
=S
~i
~ L

=y
FUEL _OUTLET
PIPE DETAIL

5

@145
6113
XKl
ol [

I

CHANK PULLY DETAIL

HEATER FUEL FUEL
ETURN OUTLET FILTER
PT1/2 _ 1

‘ 95 ;
LY L 2
L[ el Rl
al
N R
g I

PT2

EXHAUST QUTLET

$246H7"3:0

455.5
768 (LENGTH)

314.3%*

i2

18

"11-1-25



[ISUzU UM4JB1 DIESEL ENGIN

240 240 240 240 MGN30A-2
CRANK CENTER CRANK [ 4 _ _ 4]
4@\ CENTER L= A
- : _ — 7‘ O | o — [
. 9B =
i = [\~ i 629 (WIDTH)
N\ [ag) OO
© oY) ol 309 320 _ _ _ _ _MoD
o = SiNils]
O
5 4-¢18
102 - =
| ) — —
b C;' 1%
I L 15 455 .5 50
1] i ON © ENGINE MOUNTING
S — . i ' N !
o I —— Lif e OB 3 8 3 8 5 % 5 g
_‘El U 10 . 0 N © |
Lo - o - 3 < - <
L s g dO—,  dOE o g %E_
=0 I o ‘
B R s e < S JREA ] m0.5 FuEL INLET * FUEL ouTLET SEAWATER SEAWATER
~ jas) e f b < DETAIL DETAIL INLET DEATIL QUTLET DEATIL
30.5 I 3-M10X1.25 36° olo
2 al & 54 B5-412.5 tey
\—-—‘ﬁ ‘ Qo =] I P12
LL'J(TJ?O‘J’ I
4-918 130 | 130 Sl
240 240 el
550 5 )
CRANK PULLEY 12 HALF COUPL TNG EXHAUST
BETAIL OETATL. GUTLET
HEATER coiAall
TAKE 0UT CEATER . DETATL
PT1/2 REALER UeL FUEL FILTER
D ] Ti/2 .
T 3
/ ‘
+  ari
L - !
- Q% £ \ J(_ x
S o
= %2 & 5 ___L—
T 10 Mo
o L )
0 O Ty Gt
i_', J o C%‘ 7 il :r'ﬁ
g FUEL N LS =
™~ Bl L \INLET A j T T TR % gr=N - %——m 3
= i 7
il S 3
- \ = I 1 A ©
© 25\ /\ A [\ /\ L
65 /\
A %EK}ER B
240100 88 b0 157 |83 TNLET$32
£5 208 455.5 43 313 |79
gao 1098 .5 (LENGTH)

'11-1-25



